[You can change numbers in yellow below

| starting Age | 20
| Retirement Age | 60
| starting SIP Amt | 600
| SIP increment % in year | 3%
| Expected return | 12%

Age Year SIP Return Total
20 1 600 12% 7,610
21 2 618 12% 16,412
22 3 637 12% 26,567
23 4 656 12% 38,251
24 5 675 12% 51,667
25 6 696 12% 67,041
26 7 716 12% 84,630
27 8 738 12% 104,722
28 9 760 12% 127,643
29 10 783 12% 153,759
30 11 806 12% 183,487
31 12 831 12% 217,291
32 13 855 12% 255,698
33 14 881 12% 299,301
34 15 908 12% 348,770
35 16 935 12% 404,859
36 17 963 12% 468,416
37 18 992 12% 540,400
38 19 1,021 12% 621,891
39 20 1,052 12% 714,106
40 21 1,084 12% 818,416
41 22 1,116 12% 936,367
42 23 1,150 12% 1,069,703
43 24 1,184 12% 1,220,386
44 25 1,220 12% 1,390,630
45 26 1,256 12% 1,582,929
46 27 1,294 12% 1,800,095
47 28 1,333 12% 2,045,295
48 29 1,373 12% 2,322,099
49 30 1,414 12% 2,634,532
50 31 1,456 12% 2,987,126
51 32 1,500 12% 3,384,993
52 33 1,545 12% 3,833,890
53 34 1,591 12% 4,340,306
54 35 1,639 12% 4,911,554
55 36 1,688 12% 5,555,874
56 37 1,739 12% 6,282,553
57 38 1,791 12% 7,102,054
58 39 1,845 12% 8,026,170
59 40 1,900 12% 9,068,188
60 41 1,957 12% 10,243,084
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|Cost of Delay in investing if start late

| SIP needed “
| Total Amt required | 10,000,000 |
| SIP Start Age | 20 |
| SIP End Age | 60 |
| Expected return | 12% |

SIP needed @ 20 Age
SIP needed @ 30 Age
SIP needed @ 40 Age

SIP needed @ 50 Age

Amt

850

2,861

10,109

43,471

% Delay

237%
253%

330%

Multiple effect



